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Answer any five questions : :
All questions carry equal marks

The odds that a book will be received favourably by three independent critics are
5to 2,4 to3 and 3 to 4. What is the probability that of the three receives a

majority will be favourable.

-In a certain college 25% of boys and 10% of girls are studying mathematics. The
girls constitute 60% of the student body. i) What is the probability that

mathematics is being studies? ii) If a student is selected at random and is found to
be studying mathematics. Find the probability that the subject is a girl?

iii) a boy? U [7+81
) / -
Out of 800 families with /5 chi dren each how many farmhes would be expected
_ tohave ;
- i) Three boys and tw@gu‘ié&,‘ // “M
if) Two boys and three 'fls 4

b)
' 3a)

b)
4.;_1)_ |

out the probablllty ha SN AV
343 < x<6:197 (P«\ } |

iii) One girl i
iv) At the most two girls, '\,

- qunder the assvmj.ptlox;l that p;:;\ba\tlhthg for boys and girls are equal

For a normally' distr; blft”“d‘"VQp e X ;mth mean 1 and standard deviation 3, find

ii) - 1435xs619; N [7+8]
In IIT joint entrance si;"" | ¢ score showed p =64 and o =8. How Iarg__e_ a
sample of candidates appearing in the test must be taken in order that there be a
10% chance that its mean score is less than 62%.

-Out of 650 truck drivers, 40 were found to have consumed alcohol more than the
Jegal imit. Find 95% confidence interval for the true proportion of:drivers who

were over the limit during the time of test. {7+8] .

If 57 out of 150 patients suffering with certain disease are cured by allopathy and

33 out of 100 patients with-same disease are cured by homeopathy. Is there any
reason to believe that allopathy is better than homeopathy at 5% Level of
Significance,

If 48 out of 400 persons in rural area possessed ‘cell phones’ while 120 out of
500 in urban areas. Can it be accepted that the proportion of ‘cell phones’ in the

- rural and urban area is same or not. Use 5% of Level of Significance. [7+8]




In a locality 100 person were randomly selected and asked about their academic

b

5.
qualifications. The resulis are as given below
Education T '
Sex Middle standard High School Graduation Total
Male 10 : 15 25 150
Female 25 - 10 15 50
| Total 35 25 40 100
' Can you say that education depends on sex”? o [15]
6a) * Find the lines of regressmn for prlce (x) and supply (y) from the foIlowmg data,
- Also estimate the supply when prlce 1516 units. _ :
Ex =130, Ty = 220, =x° = 2288, Xy = 5506 and Txy = 3467, n= 10.
b} Calculate the rank correlation, coefficient from the folowing data of marks
' obtained by 10 students. ' : [7+8]
Marks in |78 36 98 25 75 82 |90 62 65 39
physics | d
Marks  in | 84 5L 91 - .-rﬁiﬂ“*\ 68 62 |86 38 63 |47
mathematics f/ . ‘xg
%
7. ;. Thearrival of cars is Pms n Wlth’a mean rate-of 10 per hour. The length of time
~each car spends in the car’ arlgfhas negat“ive»»e;(ponentlal distribution with mean
20 per hour.
a) How many cars- arg t th\i’e in the car parkmg on average?
b) Find the wamn tinie in thie que e. :
c¢) Find the probablFty at the\fe are qore than 4 cars in the system [5+5+5]
| 3@),-_ ~ The transmon probabrlﬁirmmtﬁx gf a Markov chain {Xn} n= 1,2,3,... having
: \w 1 To1 05 047 |
three states 1, 2 and 1"§ Pf'— 0.6 02 02| and the initial distribution is
| S 0.3 04 03
PP =(0.7,0.2,0.1).
Find 1) P{X,=3}," i) P{X3=2, X,=3, X;=3, Xo=2}
Three boys A, B and C are throwing a ball to each other. A always throws the ball

to B and B always throws the ball to 'C; but C'is just as [ikely to throw the ball to
B as to A. Show that the process is Markovian. Find the transition matrix and

- classify the states. Do all the states are ergodic? S [7+8]
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